ST R

T

(4~7H)

1 VR TR S v S AR

4/ [ (~4/7) 5/ [PEHEE213:00~ 6/ 7/ |F 1 AR E A (6/25~7/1)
K| EST AR BHETER 34 (4/1~3) PN A KB AR T KK FI 3 (6/25~7/1)
1 1 1 1| DRAERES SFHGERT v o — b (i)
”ﬁl@ﬁ?*ﬁﬁ&%?ﬁ%ﬁ
2|7k 2|4 2| A |2 ml iR i 2 e 2|k
HEEYE (~13H)
IERSRILERM (~ 1 5)
3| K 3| L (FEFLER) 3|k 3K
SRR A X A ©)
4|4 4B (REYDH) 4| K| EERAEG©1-4, 1-5 44
WL REHER (~ 5 Rin il
5[+ 5|8 (Z&EBHLDH) 5[A 5[+
[RIPTAZE B 2%
6| H 6| k| (RERAH) 64|55 1 FIERER S 6| H
SEUEERETE 7 o b — b @ (a5 5 5
T NN— AR INE BB TR 34 1Al FURT (~5/16) (40534 3)
iyl 7| K| s mmansisr oo ¥ omis (~6,/20) UE= TH
CREIIEEW) DN - FEERREAM (1) TRRE ) TR NG« T B (~ 9)
8| k| AHER - Kl 8| A7 BENE REERZOO® 8| A 8|k
BRI R AT
[CNE=W) P RHR 2900~ fee 7 Lt (O~OERBHRE) ©505
9(/ 9 9H 9|7k
PN W RS0V e s bRRS (~1LH AR) BHBX X VT HA L AT O~O
10| A& 1%&%41@7 W7 A F@~® 10|+ 10|k 10| A
g 2 a1
z‘fﬂ\/l ENES S e 0) ERHRAEGI-1, 1-6
RN PNEREPNCAEK 5326 6] 11| A 11|k 1|4
MR AP (~14)
R 29100~
12(+ 12| | B AuiREsE T = v 7 @ Gafi 4 0 i) | 12| K 12|t
PRI 3 [\ A B BN B ER R OO0
13| A 13] % 13| 4|55 1 BT E 13| A
FNEAY 2T — 3 v (B - AERO P FHR 2900~ FLAEA053 4% 3
| A|FREHRINE@ FEMEHTEO 14{ K| 55 1EIQUAL FRRR AE (1, 2524F) © 14|+ 14 A
JRFEAE 1[5 H NEHRT213:00~
15[k 154 15| A 15|k
AR (EAR405 12 3E) HERERE WXTA (1HH)
16| K| N2 13:00~ 16| 4 16| 16 | K| A B 2 e 7 Hi0 (4093 2 36)
R AR S (EAE4000 52 3E) ks (2HH)
17| K| NEH##Z13:00~ 17| 4 17|k 17\ &
R A AR ERRIREREZ T = v 7 © [ERES T3]
18(4 18| H 187k 18| 4| KA b
B BN RS AL B T 138 (BGR %) &1 RERGTE RS
19| 4= 19| A 19|k 19| 4=
AEFEC BT B 1 A 2 (R0 2 35)
20| A 20k 204 20| A
1 RIPTAE R & 01T A (~26 1) R (~8/25)
21| A 21 | 7K| B AT o o0 S EHEE (~26 F) 21|+ 21| H| (fE0R)
AT £ A BIE AR GRS (27)
FEA(~23H)
22|k 22| A 22| A 22|k
e IR R Ti6l0) AL L e Bebs LAt 3 4
237K 23| 4 23| A 23| K| LIRS (~25H)
y Mﬁ% S (~25)
7 BRRERFETRO
24| A 24|+ 24|k 24| AR
&1 AR E A (~7/1)
25|42 25| H 25| /K| & A o o0 XK IR (~7/1) 25| 4
PTAKR S
26+ 26| A 26| A 26|+
KRS
27| A 27|k 27| 4 27| A
PTAMR &I 2 EAEAERE A v 2B Za—27 U7 MEERE B TERE (~8/1)
28| A 28 /K| AR E@1-2, 1-3 28|+ 28| A
BOES 1 RS - s (B7) FTAE P B Y A LEEBR T LSRR RE SR TR (~30)
29[ k| (BBFoH) 29|k 29| H 29| K| B ZEHRIE LA RIS (~31) B 2 — v L 24E
SRR 2 171 H %5 1 1] Bh SEhERER A HARBRNS:
30( 7K 30( 4[5 1 [\ Bef 30 H 30| 7k
31|+ 31| A
H | A——k——k——K——&——3| H [HA-——k——K-——A——&——37 A [ A——k——K-——AK-——&——F H [ HA——k——kK——K——&——3
# [ 3 3 4 3 3 6] % [3 3 4 5 5 20| % [ 5 4 4 4 4 21 ¥ [ 2 3 3 3 3 14
i [HAEREEAY =T — g (PR) fi§ fi fii sn&cmmL PR BSETYR 3 4R (1)
3 RRERIHENE (b)) BREETR) 34 (F )
= = = £




A\ e
BRTEE ERATHEGE (8~11H)
i I U T P S 5 S
8/ 9/| kWIS SEFAR LB bR 10/| |55 2 F RS A (9/30~10/3) 11/
& A|&WEIC X2 mEEE (~12) VN %E;@Wﬁ%&u*ﬁﬁ(sﬂsoNlo/a) +
1 1 B O 0 311 M A 3 e A
2|+ 2[k 2| R 2(H
R BRAER 2 SFAEEERIT (~6 H)
3| H 3|k 3|4 3| Al Gk R)
AA T —iliE s (RAFYERIE) ~5H S< LEABBEM (~5H)
4| A 4K 4|+ 4|k
BLER 7 BRRERR T T (—~ 62 %)
5[k 5|4 5| H 5[k
FIEHLHEE G AR (B2)
S 6|1 6| A 6
BATRRBA WS BT 3 (~9) I 4% 2 PSR IRATARIR
7 7| H P 7|4 1 - 3EAEE
ORCFEZS T 7))
8|4 8| A 8| /K| B B LA AL 2% (3%24F) 8|+
BV EOMEE) (PTA - B ERSR) ~10 AT AT AR 1300~ (%4 H D H)
9|+ 9 9|k 9 H
W v VT A 7 AME~0 SN0
10| A 10{7k 10|4 10| A | #2mstt i 7 v r— b @ (s RE)
11{A| GuoR) 11K 11|+ 11|k
12|k 12|4 12| A 12| 7K |55 2 RT3 5 i 31 ok
BT A
13|7k 13|+ 1BA| (AFR—=YDR)
BT R Wy EL B 1
14| A& 14| A 14|k
PAST A 4/5’ Yy T (~17)
154 15| A (BEoR) 15 K [ 28 BB TR 245 (~1 7) | 15|14
BRIk BR AR 2 k3¢ o]t A5 BR B R
16| 1= 16|k 16| A 16( H
17\ A 17|k 17\4 171 A
VLER 7 ELIRIHE (~ 19857 BE 2 mIFL g - i ()
18 18| A& 18|+ 18]k
IR NS 2 T F L — A EHERE EEFREHLT = v 76
19 K|k v U 7 A A X AT 19|4x 19| R 19|k
FARERGTR A S (6 KIHZESE)
20| 7k 20|+ 20(H 20| A
R IGE R B S (B2) JE 7 BERE (230 ) BIRRAs oy TR
21| (37 7 7R RS (~22100%) | 21|H 21 [ K| BL AR S 21 (4
22|42 22| A 22| 7k 22|+
KIHR45 % FHTLEERE BV R A LHEBHRE
23|t 23|k Bk A) 23| K 23| H| (FyrEHOR)
BLAEAD /1% 3 FSEREEEHE 7 = T RAAS (~26 L)
24| H 24| K| B ERIREIHLT = v 7 6 24| 4| 5 2 [al R E 24| H| (REEHKRH)
e - HEGO
251 25+ 25|k
(55 2 b)) FPIEER AINZFEA B 5 2 FHWREA (~12/2)
26 | K| KFRBR  H3IRI IR TR HE 26|42 26| A | 2 #k F A T B B 3Bk 26| /K| AR T O IR [EI 3 (~12/2)
Yel| PR TFRGKERE (~9/1)
SF2lEl Bz IR (~9/5) (AE40545% %)
27|k 27|+ 27| A 27| A&
2 PTAE BB E 2
28| A 28| H 28|k 28| 4x
Y3
SRR S A U A B AL B—2 3y THERO
29|42 29| A 29| 7k 29|+
Y4
FH I E A (~10/3)
30( t 30k %ﬁﬁﬁfﬁ%&uﬁﬁ(“«w/i) 30| A 30 B
i AR
2 FAREEIRATHRE R
31| H 31|14
H | HA-—K——K——K——&——5f H [ A-—k——K—-——K——&——F H [ A-—k——K—-——K——&——F H [ A-—Kk——K——KR——&——F
# [0 1 1 1 1 4 # [ 4 4 4 4 4 20| ¥ [ 3 4 5 ¥ [ 2 4 4 4 4 18
i i fiii  |RERREY RS BB LR fii | Tonbry s Y7 —X
RE ST EERAS (ELRITREEFRASLFA)
= = = £




ST R

EREATERE (1 2~3H)

7 iy W N B o A A

12/ |5 2 FHIRE A (11/26~12/2) 1/ 2/ 3/ (FE e F2 5500
A &AW T o K[EHEE (11/26~12/2) K|l GeR) A A
1 1 1 1
ERGHIE T > — & (%) AR 5
PN 2|4 2(A 2| H
1, 2% R EHE
3|k 3|+ 3|k 3|k
AT I s (EREIREEH)
4K 4(H 4|7k 4|7k
[(GREE YY) 1 - 2EREE (~12H) AR (i B A - — R B2
5|4 5 5| | 2 1 o o KBl (~12 1) 5| K| CEREIREE H)
NS CEREIRER)
(ES 6]k 6| 4] 64
7| A 7| IEE 7|+
8| H 8| A 8|H 8| A
Ak Fegs CEIEIRER)
9|k 9|4 9|H 9H
Sede D RIKER A B < 2 BRRAS (~11H)
10| 7k 10|+ 10|k 10{k
T RLERN (~ 1 8)
IBIES 11| A 11| K| GEEREEDH) 11] K
{aBRIZ S SRR H - AT B D R A f
12| 4 12[A| (FRADH) 12| A| bRk #4E 2 @0 12|k
Ak Fegs CEIEIRER)
13| & 13|k 134 134
(55 3 WA
14| A 14| K| KHmbR 550 R S 14|+ 14|+
AR T RGK R R (~20H)
15| A 15| A& 15| H 15| H
FEA05y 2 MR T A & 2O T RERILERE (~2 0) AR O E R CEEREER)
16k 16(4 16| H 16| A
PR OE (FHER~19H) (~181) 1, 2%EKNEERIE
1T|K[1FFEB DSV RET A F R 17|+ = 17|k
R % I Pl (R0 S D) FTAR A AR E = EREE (~10H)
18| A 18| F 18|7K| 1 FAEHER I A &2 2B® 18| 7K| #=RB B
2 AT 5 F— EOmH (2/25) (5 3 M)
19(4 19| H 19| A 19| &
TEREANE N5 B 5
20(t 20k 204 20| 4| (FEHoR)
F2MEQULFLR A (17745) © FHERIRE (~3/31)
21| A 217k 21|+ 21|+
B R R DO~6
22| A 22| K 22| H 22| A
[CPEZ =) FIMEAB AN (23~25)
23| k| KF B 23| 4| 45 3 [ TFRE 23| A| (REMER) 23| H
9 3 [n] SfR
AR HE (~1/13) T 3R A 1 B2
24|/K[FFEA (~25H) 24|+ 24|k 24|k
A AR AL (~26H)
AVBBBIR 7 L— B BT 26 (~27) FMEA0 023 R AR R
25| A 25/ H 25 [ K| TEALAEE NGB F iR 25| K| R LIRS (25~27)
(H:5rivnd) A3 R NFBEAD T T — 3 v
264 26(H 26 | K| BAIZ B3 2 55l 2p Hg i 26| A
3R ER (~30H) IR TAT RO MBS CER)  BBE LR 2 4
27|+ 27|k 27| 4 27| 4
JIEER TNy T &
28| A 28|k 28|+ 28|+
ERFREIET = v 7 Q(@D~OMEfE5/1% %)
29| A 29| K 29| A
[ZEEN
30k 30| 4 30| A
il AR BE Y () BB TR 24
31|k 31| & 31|k
H[A——k— kA & G| o |[HA_—Kk— Ak Kk & —GF| H [H_—k kK Ak & G| H |[A_—Kk Ak Kk & 3
# [ 4 4 3 3 3 7] % [ 2 2 3 3 3 3] % [ 3 4 3 4 4 8] % [ 1 3 2 2 0 8
i fii  |fa PR ER# ER i |2 FaEHTAERAS it
= = = £




